1 1TL147 (Kl 17’1,147)

Linearized knot diagam

\ Solving Sequence

5

' . 10 > 4.11 —» —> — —> —> —> —> Co,Csy, C
A knot dlagranﬂ £ Oclo’ 4 5 o 6 s 3 Co 9011 1 o 2 . 8 —>> C2,05,C7

Ideals for irreducible component#ﬂ)f Xpar

I = (1.98756 x 10*%u? 4 1.28266 x 103! + ... + 1.35435 x 10*7b + 2.77751 x 10%°,

2.97484 x 10*7u32 + 3.19635 x 10476 + -+ + 1.35435 x 10*7a + 4.86114 x 108, w33 + 32 +
I = (uM = 3u'? —u' ' 20 + 70 — 40" — 1108 + 40P + 6ut — 5ud —u? + b,

— 73u 4+ 113u® + .- - 4 19a + 238,

u'® — 4’ — u'? + 4ut 4 300 4 66 — 6u® — 1807 + 8u® + 17w’ — Jut — Tud + 5u +u — 1)

* 2 irreducible components of dim¢ = 0, with total 48 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1

cot Mdu+1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

L.
I = (1.99 X 10%6u32 +1.28 x 104043 4. . - 4+ 1.35 X 10*7b 4 2.78 X 1046, 2.97 X
1047432 4-3.20x 1047431 +. . . 4+1.35 X 10*7a+4.86 x 1048, u33+u324...+14u+1)

(i) Arc colorings

0
a7: u
1
aio = \0

—0.146754u3? — 0.0947065u3! + - - - — 10.0032u — 0.205081

1
u2

—2.3982943%2 — 2.50756u3! + - - - — 303.100u — 36.2614
—0.153523u%2 — 0.103389u3! + - - - — 10.5613u — 0.259363

( —2.19651u32 — 2.36006u3! + - - - — 288.611u — 35.8928 )
a4 =
a1l = (
as = <
u
aﬁ - u
asz = (

—2.25912u3% — 2.42484u3! + -+ - — 293.679u — 36.1084
0.209360u32 — 0.159488u3t + - - - — 15.0713u — 0.420679

ag =

1.41506u32 + 1.04966u3 + - - - + 69.0722u — 12.5718
0.0802570u32 — 0.116578u3! + - -+ — 12.6183u — 1.15166

—1.63104u3% — 1.63496u>3! + - - - — 199.736u — 22.5435 )
[

—0.0316774u3? — 0.0129877u3! + - -+ — 6.21518u — 0.0761096

—1.63104u%% — 1.63496u3! + - - - — 199.736u — 22.5435
0.00657502u:32 — 0.00502953u3L + - - - — 4.52928u — 0.0721915

2.50333u32 + 2.57261u3! + - - - + 314.930u + 36.4507
0.0683064u32 + 0.0388114u3! + - - - + 8.35580u + 0.120011

( 2.50333u32 + 2.57261u3! + - - - + 314.930u + 36.4507 )

a9 =
ag =

ag = \0.0683064u32 4+ 0.0388114u3! + - - - + 8.35580u + 0.120011

(ii) Obstruction class = —1

(iii) Cusp Shapes = 1.80265u3? + 1.77164u3! + - - - 4+ 131.190u — 2.63139



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 uBB — P = 37Tu 449
C2 u?3 4+ 51u®? 4+ -+ - — 6243u + 2401
€3 u + 4u? -+ 1014w + 53
C4 u® — 3u? + ..+ 143u + 167
C5 u® — 3163 + -+ 4 31219u + 7513
6, C10 w4+ du+1
c8 u® 4+ 3uP? 4 -+ 4395Tu + 23657
Co u 0?4 — 194u + 69
c11 w203 120+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1,7 Y33 — 5132 ... — 6243y — 2401

C 33 32

2 Y33 — 127932 4 .. — 823598607y — 5764801

€3 y33 — 6232 + .- 4+ 1267120y — 2809

€4 y*3 +13y°2 + - + 203815y — 27889

C5 Y33 — 6252 + ... — 187379697y — 56445169
Cg, C10 y33—31y32+--~—58y—1

c8 Y>3 — 35032 + ... 4+ 2107894731y — 559653649

Co Y33 + 13132 + - — 3488y — 4761

11 Y+ 4yt 494y — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

1.127190 + 0.2919801
0.90634 + 1.241771
—0.280294 + 0.8489451

—4.91531 — 2.575431

—14.7490 + 3.50421

1.127190 — 0.2919801
0.90634 — 1.241771
—0.280294 — 0.8489451

—4.91531 + 2.575431

—14.7490 — 3.50421

—0.258449 + 1.1561607
0.118269 + 0.2471661
0.381205 — 0.2361021

2.26695 + 2.070001

4.04253 + 2.667581

—0.258449 — 1.1561607
0.118269 — 0.2471661
0.381205 + 0.2361021

2.26695 — 2.070001

4.04253 — 2.667581

= —1.214840 + 0.3047351
= —0.676508 + 1.0001401
—0.363295 + 1.1808301

—2.65106 + 0.570671

—7.43301 4 1.594681

—1.214840 — 0.3047351
= —0.676508 — 1.0001401
—0.363295 — 1.1808301

—2.65106 — 0.570671

—7.43301 — 1.594681

—1.203030 + 0.4582881
= —0.26246 + 1.717721
1.23330 + 1.315691

—4.39762 + 3.590481

—13.6557 — 4.45011

—1.203030 — 0.4582881
—0.26246 — 1.717721
1.23330 — 1.315691

—4.39762 — 3.590481

—13.6557 4 4.45011

1.235800 + 0.3626991
= —0.03086 + 1.639231
—0.508343 + 0.9296151

—1.99613 — 4.921651

—6.31797 + 5.985531

1.235800 — 0.3626991
= —0.03086 — 1.639231
= —0.508343 — 0.9296151

>~ Q@ €|l & €| & €| Q& €| & €| & €| & &> & 8| & 8| & &

—1.99613 + 4.921651

—6.31797 — 5.985531




Solutions to I} V—1(vol + v/—1CS) Cusp shape
u = —0.569481
a = —0.688600 —1.00066 —10.2820
b= —0.604199

u = —0.173547 + 0.4796261
a = —0.525769 — 0.7343711
b = —0.526827 + 0.7960281

—1.45039 + 0.213791

—8.69019 — 1.032521

u = —0.173547 — 0.4796261
a = —0.525769 + 0.7343711
b = —0.526827 — 0.7960281

—1.45039 — 0.213791

—8.69019 + 1.032521

u = 0.129625 + 0.4884871
a = —0.477469 + 0.4737951
b= 0.889420 + 0.3791051

1.34993 + 1.555761

0.80167 — 1.356911

u= 0.129625 — 0.4884871
a = —0.477469 — 0.4737951
b= 0.889420 — 0.3791051

1.34993 — 1.555761

0.80167 4 1.356911

u = —1.52232 + 0.043811
a = —0.703268 — 0.9413071
b= 0.711491 — 0.7158001

—14.5102 — 1.08641

—12.76434 + 6.062011

u = —1.52232 — 0.043811
a = —0.703268 + 0.9413071
b= 0.711491 + 0.7158001

—14.5102 + 1.08641

—12.76434 — 6.062011

u = —0.078681 + 0.4247031
a = —0.651126 + 0.856956.1
b= —0.868396 — 0.5748241

0.04954 4 4.462701

—2.71293 — 8.438541

u = —0.078681 — 0.4247031
a = —0.651126 — 0.856956.1
b= —0.868396 + 0.5748241

0.04954 — 4.462701

—2.71293 + 8.438541

u= 159376 + 0.048741
a = —0.476576 — 0.8590381
b=-1.93979 — 1.301001

—15.3428 — 2.18021




Solutions to I}

V=1(vol + v=1C)

Cusp shape

1.59376 — 0.048741
—0.476576 + 0.8590381
= —1.93979 4 1.301001

—15.3428 4 2.18021

1.62635 + 0.113741
0.254364 — 1.1088101
= 0.80851 — 1.545721

—6.41445 — 6.007961

1.62635 — 0.113741
0.254364 + 1.1088107
0.80851 + 1.545721

—6.41445 + 6.007961

—1.65170 + 0.203951
0.329105 — 0.8791321
—0.047223 — 1.0782801

—5.75926 — 1.267071

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

—1.65170 — 0.203951
0.329105 + 0.8791321
= —0.047223 + 1.0782801

—5.75926 + 1.267071

u

b

0.17496 + 1.667471
—0.0254572 — 0.04043401
0.312479 — 1.2418107

—11.57590 — 4.558521

U
a
b

= 0.17496 — 1.667471
= —0.0254572 4 0.04043401
= 0.312479 + 1.2418101

—11.57590 + 4.558521

u = —1.65356 + 0.670601
a= 0.202508 — 1.1835401

b= —1.06866 — 1.492161

—17.3332 + 12.65171

u = —1.65356 — 0.670601
a = 0.202508 + 1.1835401

b= —1.06866 + 1.492161

—17.3332 — 12.65171

u

a

b:

= —0.0667735 + 0.08844491
= —16.3648 — 15.71701
0.429817 — 0.6861381

—9.04777 + 1.614271

—11.19487 4 6.809331




Solutions to I

V=1(vol + v=1C)

Cusp shape

u = —0.0667735 — 0.08844491
a = —16.3648 4+ 15.71701
b= 0.429817 4 0.6861381

—9.04777 — 1.614271

—11.19487 — 6.809331

= 1.71996 + 0.811761
= —0.271982 — 0.7445161
0.638698 — 1.2359901

—16.3377 — 4.46511

1.71996 — 0.811761
= —0.271982 + 0.7445161

u
a
b
u
a
b 0.638698 + 1.2359901

—16.3377 4 4.46511




II. I; = ('u,14 — 3ul? 4o — u? + b’ —73ul4 + 113413 4.

238, ul® —4u'3 4+ ... +u—1)

+ 19a +

(i) Arc colorings
o= ()
ai = )

3.84211u' — 5.94737u'3 + -
_u14 + 3u12 4.

0.526316u'* — 3.84211u!3 + -

as = 3.36842u + 0.789474u3 + -
u
ag = u
— 3.84211u%3 + -
az = 4.31579u'* + 2.10526u'3 + -

9.31579u + 4.10526u!3 + -
—3ul® + 100!t + -

0.526316u' + 3.84211u!3 + -
—5.47368u'* + 8.15789u!'3 + -

0.526316u'* + 3.84211u"3 + -
—6.42105u' + 9.47368u!' + -

3.94737ul — 4.31579u13 + - .-
6.57895u'4 — 10.5263u!3 + - - -

3.94737ul — 4.31579u!3 + - .-
as =\ 6.57895u* — 10.5263u'3 + - - -

(o
(
e
(*
( 14
(0 526316u
(
-
.- (-
o

(ii) Obstruction class =1

-4 24.1053u — 12.5263)

4 5ud 4 u?

-+ 14.3158u — 6.57895
— 5.42105u + 2.10526

-+ 13.3158u — 6.57895
—10.7895u + 5.94737

— 29.7895u + 8.94737

-+4u—4

—9.31579u + 7.57895
— 28.6842u + 17.4211

—9.31579u + 7.57895
— 33.0526u + 21.2632

+ 14.3684u — 10.8421
+36.9474u — 21.7368

+ 14.3684u — 10.8421
+36.9474u — 21.7368

(iii) Cusp Shapes _ 124 14 4 301u13 + 478 12 941 ull
2898 7 , 696, 6 _ 5366, 5 218 u 2007 3 ?063 2 ?032 &
1 +3 ~ 19 - + T Ut - Hgut — U+ 79

746 10+339 9_ 2

2.8
19U



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! u® —8ul o —du—1

C2 ut® +16uM + -+ 18u+ 1

s ut® —11uM + - 4+ 73u — 19

¢4 u® =2 —2u—1

¢ ut —uM e —du—1

C6 SR T BT |

¢ u® —8ul o —du+1

s ul® —2u 4+ 4 2u+1

€ u®® 4 2uM? 4 30t + 4B + 6u” — 6uS + 100 + 5ut — 2u® + 6u? —u + 1
10 u® —duP w1

c11 u® =3+ 4+ 3u+1

10



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1,7 Yyt — 16y .-+ 18y — 1

Co Y odyM 4oy 1

€3 Y — 19yM + - 4 1529y — 361

Ca gyt 12y —1

Cs Y Tyt sy — 1
C6, C10 y -8yt 11y —1

cs Yyt -1

Co Y 4y 11y —1

cn gyt Ty — 1

11



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

uw = —1.016610 + 0.4310541
a = —0.855984 + 1.0677501
b= 0.281730 + 1.2089101

—3.57736 + 1.803981

—10.22776 — 1.358491

u = —1.016610 — 0.4310541
—0.855984 — 1.0677501
0.281730 — 1.2089101

b:

—3.57736 — 1.803981

—10.22776 4 1.358491

1.145500 + 0.3900521
a = —0.03040 + 1.796781
b= —0.645353 + 1.1663101

u =

—2.97120 — 6.428221

—8.47318 + 7.697591

1.145500 — 0.3900521
a = —0.03040 — 1.796781
—0.645353 — 1.1663101

u =

—2.97120 4 6.428221

—8.47318 — 7.697591

0.694258 + 0.1359621
—0.274946 4 0.6999491
= 1.072130 + 0.6307001

—0.80659 + 4.082941

—10.81787 — 3.739981

0.694258 — 0.1359621
= —0.274946 — 0.6999491
1.072130 — 0.6307001

—0.80659 — 4.082941

—10.81787 +- 3.739981

—0.681806 + 0.0195771
—0.553972 — 0.9680441

0.12222 — 1.547501

—8.44941 4 2.091981

—0.681806 — 0.0195771
—0.553972 4 0.9680441
—1.268190 — 0.0997741

0.12222 + 1.547501

—8.44941 — 2.091981

0.510989 + 0.4491071
= 3.49622 — 0.967091
0.250601 + 0.5997601

—9.05250 — 2.110361

—11.5344 + 8.64631

0.510989 — 0.4491071
3.49622 + 0.967091
0.250601 — 0.5997601

b
u
a
b
u
a
b
u
a
b= —1.268190 + 0.0997741
u
a
b
w
a
b
u
a
b

—9.05250 4+ 2.110361

—11.5344 — 8.64631

12



Solutions to I3

V=1(vol + y/=1CS)

Cusp shape

u = —0.149147 + 1.3345901
a= 0.156974 — 0.0435961
b= 0.015421 + 0.4815181

1.95997 + 2.299801

—12.9306 — 8.88721

uw = —0.149147 — 1.3345901
a= 0.156974 + 0.0435961
b= 0.015421 — 0.4815181

1.95997 — 2.299801

—12.9306 + 8.88721

u = —1.292720 + 0.3925221
a = —0.131181 + 1.3128201
b= 0.822319 + 0.8548551

—3.07019 + 3.173441

—7.31876 — 2.829171

uw = —1.292720 — 0.3925221
a = —0.131181 — 1.3128201
b= 0.822319 — 0.8548551

—3.07019 — 3.173441

—7.31876 + 2.829171

u= 1.57907
a= 0.386597 —14.5567 —11.4960
b= —-1.05733

13



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (u'® = 8u'® + - —du— 1)(u® — 0w + -+ — 3TTu + 49)
Ca (u'® + 16u™ + -+ + 18u + 1) (u®® + 514 + - - — 6243u + 2401)
c3 (u'® — 11u™ + -+ 4 73u — 19) (u®® 4 4u° + - - - + 1014w + 53)
4 (u® —2u'® - —2u — 1)(u® — 3u3? 4 - + 143u + 167)
e (u'® —uM 4 —du—1)(u® = 316 + - - + 31219u + 7513)
C6 (W =4+ u+ DB 0P+ Mu+ 1)
cr (u® = 8u'® + - —du 4+ 1)(u®® — w3 + ... — 377u + 49)
cs (u'® —2u™® 4+ - 2u 4+ 1) (0 + 3uB? + - -+ 43957u + 23657)
Co (u*® 4 2u'? + 30t 4 4u® + 6u” — 6uS + 10u® + 5ut — 203 + 6u® —u + 1)

(WP w4 — 194u + 69)

€10 (' —4u® - Fu— D) WP+ P+ 1u 1)
c11 (uls—3u14+~~+3u+1)(u33+2u32+~~~+12u+1)

14



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,er (y' — 16y + - + 18y — 1) (v — 51332 + - - - — 6243y — 2401)
c2 (y' —24y™ + -+ 2y — 1)

(y* =127y + - - — 823598607y — 5764801)

o (y' — 19y + ... 4+ 1529y — 361)
. <y33 _ 62y32 + -+ 1267120y — 2809)

C4 (y' — 4y + - — 12y — 1) (>3 + 1332 4 - + 203815y — 27889)
cs W =Ty =8y —1)
(Y — 62y% + -+ — 187379697y — 56445169)
€6, C10 (y"® =8y + -+ 11y — 1)(y> - 31y32 - — 58y — 1)
cs W -yt 4+ —ay—1)

(y®3 — 3532 4 - + 2107894731y — 559653649)

Co (¥ — 4y + - — 11y — 1) (y> + 139> + - .- — 3488y — 4761)

c11 W =y Ty = Dy 1 94y - 1)

15



